(1)
(1)) 72-2vV35¢gs2+2V3 (ii)42 w3 = M=12

2) (i) + %aS (i) # (40v2 — 56)a?
(3) % 043 2 2.72

) (i) 7 % (i) 2 4r ¥ 83

(5)(i)>%sin2% 2w (i) & 1 (i) ¥ —12\/%' X _1_6\/72'

RRARRSD-)L




(11
(1) Fp=04 Yp>04 04 F 0.00024
(2)
EALEN R THEI05
R—04
/0.00024
35k, WERE ZIIMEEERSHE N0, 1) 1IiE>. BREKESD THHH0 0

P(Z <k)=0.95
Y75 kEEZL. LD
P(Z<k)=05+P(0< Z<k)
v¥725. PO0SZ<k) =045 %5 kO, FHEOMEID 1.64TH 5.

koT, BEKESY OFHIBIL Z>164TH5b. ZZTR= 1(%0 THLHZEDD

n
S
T > 1.64

/0.00024 ~
n —400 1.64

240
n > 1.64 - 4V/15 + 400
n > 424.5344

v

B, LEhoT, ndDe bS5 35/NDHEIE

n =425

RRAARED-)L



(I11)
1) F So- 12

T
(2) X 6 —6log2
(3) % 6+ 6log2

(1V)
211
(1) 7 913

2) N 20

(2)
(3) &
(4)

I

4) 7 150 — 50(n+3)(

3

v
B
&

)" ~ 150

RRAARSD-)L



